Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2016

Subject Name: Transportation Engineering
Subject Code: 2TEO4TREL Branch: Diploma (Civil)
Semester: 4 Date: 12/05/2016 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) In India the modes of transportation, in the order of their importance, are 1)
(A) air transport, shipping, roads, railways
(B) railways, roads, shipping, and air transport
(C) roads, railways, air transport, shipping
(D) shipping, roads, railways, air transport

b) IRC was founded at New Delhi in 1)
(A) 1939 (B) 1934 (C) 1927 (D) 1947

c) The ideal shape of a transition curve, is 1)
(A) Spiral  (B) cubic parabola (C) Lemniscate (D) none of these

d) The pavement width of a road depends upon Q)
(A) road intersections (B) type of traffic (C) number of lanes (D) all

e) Width of the shoulders of carriage way is generally kept 1)
(A)100cm (B)250cm (C)150cm (D) 125 cm

f)  For avehicle moving with 80 km per hour, the brake reaction time, is 1)
(A) 1sec (B) 2sec (C) 25sec (D) 3sec

g) Distance between inner faces of the flanges, is kept 1)

(A) slightly more than the gauge distance
(B) equal to the gauge distance

(C) slightly less than the gauge distance
(D) none of these.

h)  Which one rail section is not used on Indian Broad Gauge tracks? 1)
(A)35R (B) 45R (C)55R (D) 40R

i)  Width of the top portion of a flat footed, rail, is 1)
(A) 66.77mm (B) 69.85 mm (C)63.50 mm (D) 136.52 mm

j)  For Arch bridges Free board is, 1)

(A) 600 mm (B) 300 mm (C) 900 mm (D) 3000 mm
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k) Sub structure of a bridge does not include

1)

(A) Abutment (B) Wing Walls (C) Piers (D) Girder/Slab
For span 8 to 30 m, bridge is

(A) Major bridge (B) Minor bridge (C) Long span bridge (D) None of these

m) Free board is the level difference between formation level and

(A) Rail level (B) HFL (C) bed level (D) danger level

n)  Super structure of a bridge does not include

(A) Parapet (B) Flooring (C) Piers (D) Girder/Slab

Attempt any four questions from Q-2 to Q-8

Q-2

Q-5

Q-6

()
(b)

()
(b)
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(b)
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(b)
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(b)

()
(b)

()
(b)

Attempt all questions

Explain various factors affecting road alignment.

Draw a cross section of road structure showing its components and functions of
each.

Attempt all questions
Explain requirements of good road drainage system.
Explain Road side arboriculture.

Attempt all questions
Enlist various traffic control devices & explain Signs with sketch.
Explain the maintenance of bitumen roads.

Attempt all questions
Explain various components of bridge with sketch.
Explain Economic span.

Attempt all questions
Classify the bridge foundation and explain deep foundation with sketch.
Give various types of bearings. Explain any three with sketch.

Attempt all questions
Explain defects in bridges and remedial measures.
Explain Components of railway track with sketch.

Attempt all questions

Explain Left hand turnout and Right hand turnout with sketch in railway.

Enlist the tools are used for railway track maintenance and give the functions of
each with sketch.
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Q-1

a)

b)

c)

d)

€)
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h)

Attempt the following questions:

B3l HL 2leWR2AUt ofl WS Aol HEel oll AU :

(A) AR 2ler e, Al Ulo,Rs,cAd  (B) 2,2, 2l Ulo, AR glet W2
(C) A5,2AA,AR 2l R, Ulot (D) 2oL, As,RAQ, AR 2leAURR
Rl 1l 1RColl auuoll sal il |l al?

(A) 1939 (B) 1934 (C) 1927 (D) 1947

UstHl anis ol wUed MsIR:

(A)RWEA  (B) sgolls Vollcl  (C) Qiollde (D) 518 el o3
g0 ol USloUES MUR AW B:

(A) As Bo2As2Ast (B) 235 oll UsIR  (C) Aot ofl vl (D) oLl %

AR ol uSloues At wUa B:

(A)100cm (B)250cm (C)150cm (D) 125cm

80 kmper hour o{l @Uls UR cllgel ¥ Sl RAUR IAsAct AHA:
(A) 1sec (B) 2sec (C) 2.5sec (D) 3sec

$A% ofl Aot ofl Gl cARo] B cAR:

(A) A% AR $cll AR (B) A% ¥R Baq ¥

(C) A% AR sl Wy (D) A Ul «18l

o{lAell il 520 3t As2Aot BledaUot Glls Ay 25 HIZ AURAA olell?
(A) 35R (B) 45R (C) 55R (D) 40R

sA2 &5 e oll GUR ot ewwdl ofl udlous:

(A) 66.77 mm (B) 69.85 mm (C)63.50 mm (D) 136.52 mm

wLs ofler 12 gl ols:

(A) 600 mm (B) 300 mm (C) 900 mm (D) 3000 mm

ofles otl A structure Hi ollAsttriell Aol LA UA olell?

(A ANz (B) [dot Al () QAR (D) a8 /Ax

81030 m, ¥lol Sl A ofl%y:

(A) xR oflos (B) HIBAR ol (C) Aol 2ULet oflr (D) 5l UL t(d
gl 6ll§ A Add dAoll dslad B BHUL SRAAA Add WA :

(A) R Qad  (B) HL (C) s Add (D) 3o%2 Add

ofl ol YuR structure Hi o{lAsttmiell Aol AHAA UA otell?

(A) WAV (B) sAllRal (C) Qar (D) al§ /A

Attempt any four questions from Q-2 to Q-8

Q-2
(@

Attempt all questions
R2cll oll ULSWL o AU 5l UR oo UMl
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Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

(b)

@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

2cll oll WUSVDE ERL Aol Aol Us AHNLAl.

Attempt all questions
ARL AS 3% ol ¥3BRauct wud.

AS AT co{ls0 UM

Attempt all questions
2Lgls (2ol Gus:wl ol el wottdl U [ate{lA AHs AL

SUHR ol cll ofl QAearll dxesal.

Attempt all questions
Yt ol g8l wgld a3 Al

55U YScl Lol Al

Attempt all questions
Y ol Wil of allsel 5 ual Gl Ul ugld W uustal.

AZAL ol YsIA LU U 5185 ULl 2Rl 2LsA WA UM

Attempt all questions
Yd Ui Geataldl vl dat dstl westadl ot Guiall uuesdl.

A 25 oll Uesl uisld WA qumesAl.

Attempt all questions
RAA UL atdaRdl Aol gfleleRdl [Aotdet wusld WA Al

A 250{l [etcll 12 ol AR U Aol stAl vULsA WA UHA.
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